Math 101

[ 5-22 when z <0
1. Iff(37)—{g;2_3x+2 when z >0

then f’ (0) =

(f2(0) : left hand derivative of f at 0)
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If f(z) =2vVZ+x Inz+e+2° then f'(z) =



3. If f(x) is differentiable for all z > @ and f(32° +5) = Yz 1 7. the f'(8)
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4. Let f(z) = 37‘;:—2 then f'(0) =
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If f(z) = T+ then f'(z) =
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6. If the line y 4+ = 2 is tangent to the curve y = st then ¢ =

(a) 4 bamend o) (<, ) =% -2
(b) 0
(c) 2 c

R = k-x™
(d) -2 T o4 2
(e) 1
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7. The slope of the tangent line to the curve y =

atz=01s
1 —tan z
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8. Let f(z) = (22° 4+ 3z — 1) €%, then ’1111% f($+hl)z—f(£c) -
(a) (222 + Tz +2)e” | o - X»(ﬂ\ \
(b) (4z —2)€° }\\:O ?rK - ﬁ M
(c) (222 —z+3)€” W
(d) (z +2h+1)e™t"
(e) (z®+ h?+4)e™h
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The radius of a cylinder is increasing at a rate of 3 cm/sec and the height is
increasing at a rate of 2 crm/sec. How fast is the volume changing when the
radius is 1cm and the height is 4cm? (Volume of a cylinder is V = 772 h)

(a) 26mcm®/sec

(b) 127 cm®/sec A \/ ‘
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1. If z = cot 2y, then o

dx
(a) —% sin® 2y | =~ C05€C’LZQ '2?/]
(b) —y sin® 2y
2 \: — \ 29/\
(c) cos” 2y 5\,{7-29
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(d) = cos® 2y

(e) —m sin® 2y ‘2 : = = B_ s = 29_
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12.  Which one of the following statements is TRUE?

(a) If fis differentiable, then% f(z) = 2f’](cg(;zg)
(b) If fis differentiable, then-c% f(/z) = J; '(\/f”g
() %(101) =z 10%7}

(d) %(m 10) = %

d, o
(e) Eilsc +z| = |2z + ]|
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13. The position of a particle at time ¢ is given by the equation

s(t) = 2t* — 15¢% + 36¢.

What is the total distance traveled by the particle during 0 < ¢ < 3?

(a) 29 viB\=s' k)= [ 4r =106 <34
(b) 17

(©) 11 = ((e-D(E-3)
(d) 9

(e) 28 v%\;o @i <L
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If F(z) = f(z g(sin z)) where f'(r) = 1,4'(0) = %, 9(0) =1 and g(7) = 6,
then F'(7) =

(a) -1 F\Q‘\ ’f (& g (s‘m.x)) (9 (_s\r\x\iﬂ)(g\é-w)cosx
(b) -2
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(e) 0
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90. A particle is moving along the circle 22 + y* = 25. As it passes through

the point (3,4), its r-coordinate is changing at a rate of 2cm/sec. How
fast is the y-coordinate changing at that instant?

(a) f2—cm/sec
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(b) —%cm/sec 2
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(d) lem/sec

(e) 2cm/sec
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